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SECTION 2.2
2.2.1 Find 1'1m2(x3 + 6x* — 16). 2.2.2 Find lim .
T—— r—
2 2 _
2.2.3 Find hm + 2 2.2.4 Find lim > 20
1 r—dx2 4+ —20
2 o2
2.2.5 Find 11m +2z 2.2.6 Find lim _1_:1:_
20 1 - 212 1124+ 5x —6
2 2 _ .2
2.2.7 Tind lim & 122 2.2.8 TFind lim ——%
s—1x2 —dx+3 e X — @
3 _ 3 _ 2
2.2.9 Find lim &2 9.2.10 Find lim 2% +2%
z—3 ¢ —3 z—1 z—1
) 1 1
h3 — 4h 77 a
2.2.11 Flnd llin m 2.2.12 Flnd }?1_]361” T —a .
1 1
- L 5 3 3
2.2.13 Find lim 3F10 2.2.14 Find lim =%
h—0 h z—-a X+ a
4
—3 l——
2.2.15 Find hm — = 2.2.16 Find lim L
=3 23 — 27 2,_2
xT
—9|— —4
2.2.17 TFind tim 22 2=2, 2.2.18 Find lim ———
h—1 h z—d- |z — 4|
_ 2 _
2.2.19 TFind lim —— 2.2.20 Find lim 2% -1
g1t |z — 1] z—too 22 +1
3 2
9.2.21 PFind lim —" 2% 2.2.22 Find lim Y5 2,
g-rtoo 313 + 4x2 + 5z z—+00
\/_2—‘T Vv
2.2.23 Find lLim YoI t4*-1 2.2.24 Find lim
z—+oo 33—z I——00 T
VT T dr =1
2.2.25 Find Lm o8 tdr-1
T——00 33—z
lm _ 3' r<3
2.2.26 Find lim f(z) where f(z) = x—3"
z=3 T, >3
1
<1
2.2.27 Find lim f(z) where f(z) = *+2
Pr—
1 -2z,
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l—z, z>1
2.2.28 Find the right hand limit at x = 1 for f(z) = 6, zxz=1.
14z, <1

-1, >0
2.2.29 Find the left hand limit at z = 0 for f(z) =

z2—-1, <3

2.2.30 Find lim f(x) where f(z) = .
z—3 (@) (z—-1)°, >3

r+1, <0
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